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=
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i
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L’avant
dernière

ligne
est

obtenue
grâce

à
la

form
ule

du
triangle

de
P
ascal.

La
dernière

est
obtenue

en
rem

arquant
que

:

x
0y

n
+

1
=

✓
n

+
1

0

◆
x

0y
n
+

1
et

x
n
+

1y
0

=

✓
n

+
1

n
+

1 ◆
x

n
+

1y
0.

D
oncP

(n
+

1)
est

vérifiée.

A
insi,par

principe
de

récurrence,on
a

:8
n
2

N
,

P
(n

).
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Initialisation
:prenons

n
=

1.Soit
m

>
1.L’im

plication
est

vérifiée
car

son
m

em
bre

de
droite

l’est
(1

=
n
6

m
).A

insi,P
(1)

est
vérifiée.

H
érédité

:soit
n
>

1.SupposonsP
(n

)
et

dém
ontronsP

(n
+

1
).Soit

m
>

1.
Supposons

qu’il
existe

une
injection

f
de

J1
,n

+
1K

sur
J1

,m
K.

O
n

alors
m

>
2

(sil’on
suppose

par
l’absurde

m
=

1
alors

...).N
otons

a
=

f
(n

+
1)

et
considérons

l’application
g

:
J1

,nK
!

J1,m
K\{

a}
x

7!
f
(x

)
.C

ette
fonction

est
injective

car
restriction

d’une
fonction

injective.D
’après

le
lem

m
e

pré-
cédent,

il
existe

une
bijetion

h
:J1,m

K\{a}
!

J1
,m

�
1K.

L’application
h�

g
:J1

,nK!
J1,m

�
1K

est
injective

donc,par
principe

de
récurrence,on

a
n
6

m
�

1
et

ainsi
n

+
1
6

m
.D

’où
P

(n
+

1
).

P
ar

principe
de

récurrence,on
a

m
ontré

:8
n
>

1
,P

(n
).

P
rop

osition
1

(POLY).
SoientJ1,nK

etJ1,m
K

deux
intervalles

entiers.
S’ilexiste

une
bijection

de
J1

,nK
surJ1

,m
K,

alors
m

=
n.

D
ém

onstration.
U

ne
telle

bijection
f

est
notam

m
ent
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deJ1,nK
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K

et
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f
�

1
est
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J1
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K
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le
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m

e
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a

n
6

m
et

m
6

n.D
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n
=

m
.

O
n

peut
m

aintenant
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définition

rigoureuse
d’ensem

ble
finiet

de
cardinal.

D
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ition
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b
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n
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⇤
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!
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E
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C
a
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J1,nK)
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⇥
M

éthode
théorique.

O
n

s’intéresse
au

nom
bre

de
couples

form
és

d’un
ensem

ble
A

2
P

k
et

d’un
élém

ent
a

pris
dans

A
.Ily

en
a

:
C

ard
P

k ⇥
C

ard
A

=

✓
nk ◆

⇥
k.

O
n

aurait
pu

raisonner
différem

ent
:choisir

d’abord
un

élém
ent

a
2

E
puis

form
er

l’ensem
ble

A
en

choisissant
k�

1
élém

ents
autres

que
a

et

en
ajoutant

a.A
u

final,on
obtient

:
C

ard
E

⇥
C

ard
P

ak
=

n ✓
n
�

1

k�
1 ◆

g)
E

ncore
et

toujours
deux

m
éthodes

pour
dém

ontrer
cette

égalité.

⇥
M

éthode
calculatoire.

Soit
x
2

R
.Ils’agit

de
rem

arquer
que

:
(1

+
x
)
a
+

b
=

(1
+

x
)
a(1

+
x
)
b

et
d’appliquer

la
form

ule
du

binôm
e

(cf
T

héorèm
e

6).

⇥
M

éthode
théorique.

Si
E

est
un

ensem
ble

à
a

+
b

élém
ents,on

peut
l’écrire

com
m

e
union

disjointe
de

F
(à

a
élém

ents)
et

de
G

(à
b

élém
ents).P

our
choisir

une
partie

à
p

élém
ents

de
E

on
peut

choisir
une

partie
à

k
élém

ents
de

F
et

la
com

pléter
par

une
partie

à
p�

k
élém

ents
de

G
.P

lus
précisém

ent,
l’ensem

ble
P

k
est

en
bijection

avec
:

pSk
=

0

(T
k ⇥

R
p�

k )

où
T

k
est

l’ensem
ble

des
parties

à
k

élém
ents

de
F

et
R

k
est

l’ensem
ble

des
parties

à
p�

k
élém

ents
de

G
.
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I.2.
C

ard
in

al
d
’u

n
sou

s-en
sem

b
le

d
’u

n
en

sem
b
le

fi
n
i

L
em

m
e

3
(POLY).

Soit
A

une
partie

de
J1

,nK
(A

⇢
J1

,nK).
1)

A
lors

A
est

fini
et

C
a
rd

A
6

n.
2)

D
e

plus
:
(C

ard
A

=
n
)

,
(A

=
J1

,nK)
D

ém
onstration.

P
ar

récurrence
sur

n.

T
h
éorèm

e
1.

Soit
E

un
ensem

ble
fini.

Soit
A

une
partie

de
E

(A
⇢

E
).

1)
A

lors
A

est
fini

et
C

a
rd

A
6

C
ard

E
.

2)
Lorsque

E
est

fini,
on

a
alors

:

A
⇢

E
C

ard
A

=
C

ard
E

�
,

A
=

E

D
ém

onstration.
E

est
ensem

ble
finidonc

ilexiste
n
2

N
et

une
bijection

f
de

E
surJ1

,nK.
Soit

A
⇢

E
.

O
n

considère
alors

g
:
A

!
f
(A

)
telle

que
:8

x
2

A
,g

(x
)

=
f
(x

).
L’ensem

ble
f
(A

)
est

une
partie

de
J1,nK

donc,
par

le
lem

m
e

3,
il

est
fini

et
C

ard
f
(A

)
6

n.
L’application

g
est

une
bijection

de
A

sur
f
(A

),
donc,

d’après
la

proposition
2,

C
a
rd

A
=

C
a
rd

f
(A

).
A

insi,
C

a
rd

A
=

C
a
rd

f
(A

)6
n

=
C

ard
E

.
(cas

d’égalité
:
distinguer

dans
la

preuve
le

cas
A

=
E

et
le

cas
A

(
E

)

M
éth

od
ologie

C
e

théorèm
e

fournit
une

m
éthode

pour
dém

ontrer
que

deux
ensem

bles
fi
n
is

sont
égaux.P

lus
précisém

ent
:soit

E
est

un
ensem

ble
fini.

P
our

m
ontrer

que
A

=
E

,ilsuffi
t

de
dém

ontrer
:

•
A

⇢
E

,
•

C
a
rd

A
=

C
ard

E
.
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Ic

ia
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si
,i

ly
a

de
ux

m
ét

ho
de

s
po

ur
dé

m
on

tr
er
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tt

e
ég

al
it

é.

⇥
M

ét
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ca

lc
ul

at
oi

re
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✓ n
�
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�
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�

1
)
�
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�

1
))

!
=
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�
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!

(k
�

1)
!(

n
�

k
)!

=
k

(n
�
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!

k
!(

n
�

k
)!
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�

1

k

◆
=

(n
�

1)
!

k
!(

(n
�

1)
�

k
)!

=
(n

�
1)

!

k
!(

n
�

k
�

1)
!
=

(n
�

k
)
(n

�
1
)!

k
!(

n
�

k
)!

E
n

so
m

m
an

t
ce

s
de

ux
él

ém
en

ts
,o

n
ob

ti
en

t
:

✓ n
�

1

k
�

1

◆
+

✓ n
�

1

k

◆
=

(k
+

(n
�

k
))

(n
�

1)
!

k
!(

n
�

k
)!

=
n

(n
�

1)
!

k
!(

n
�

k
)!

=

✓ n k

◆

⇥
M

ét
ho

de
th

éo
ri

qu
e.

So
it

E
es

t
un

en
se

m
bl

e
à

n
él

ém
en

ts
.

So
it

a
2

E
.

N
ot

on
s

al
or

s
P

a k

l’e
ns

em
bl

e
de

s
pa

rt
ie

s
de

E
à

k
él

ém
en

ts
co

nt
en

an
t
a

et
P

ā k
l’e

ns
em

bl
e

de
s

pa
rt

ie
s

de
E

à
k

él
ém

en
ts

co
nt

en
an

t
a

ne
co

nt
en

an
t

pa
s

a
.

T
ou

t
A

2
P

k
vé

ri
fie

:(
A

2
P

a k
)
O
U

(A
2

P
ā k
).

A
ut

re
m

en
t

di
t

:P
k

=
P

a k
[

P
ā k

(u
ni

on
di

sj
oi

nt
e)

.
O

n
en

dé
du

it
qu

e
:C

ar
d
(P

k
)

=
C

ar
d
(P

a k
)

+
C

ar
d
(P

ā k
).

O
n

co
nc

lu
t

en
re

m
ar

qu
an

t
to

ut
d’

ab
or

d
qu

e
:C

ar
d
(P

k
)

=

✓ n k

◆

pu
is

qu
e

:C
ar

d
(P

a k
)

=

✓ n
�

1

k
�

1

◆
✓

on
ch

oi
si

t
k
�

1
él

ém
en

ts
da

ns
E

\{
a
}

et
on
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ou

te
a

◆

et
en

fin
:C

ar
d
(P

ā k
)

=

✓ n
�

1

k

◆
(o

n
ch

oi
si

t
k

él
ém

en
ts

da
ns

E
\{

a
})

f)
E

nc
or

e
de

ux
m

ét
ho

de
s

po
ur

dé
m

on
tr

er
ce

tt
e

ég
al

it
é.

⇥
M

ét
ho

de
ca

lc
ul

at
oi

re
.

P
ou

r
to

ut
k
2

J1
,n

Ko
n

a
:

n

✓ n
�

1

k
�

1

◆
=

n
(n

�
1)

!
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�

1)
!(

n
�

k
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�
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�
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�
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3.

A
p
p
li
ca

ti
on

s
en

tr
e

en
se

m
b
le

s
fi
n
is

P
ro

p
os

it
io

n
3.

So
ie

nt
E

et
F

de
ux

en
se

m
bl

es
fin

is
.

So
it

f
:
E

!
F

un
e

ap
pl

ic
at

io
n.

1)
A

lo
rs

f
(E

)
es

t
fin

i
et

C
ar

d
f
(E

)
6

m
in

(C
a
rd

E
,C

a
rd

F
).

2)
C

a
rd

f
(E

)
=

C
a
rd

E
,

f
es

t
in

je
ct

iv
e

3)
C

a
rd

f
(E

)
=

C
a
rd

F
,

f
es

t
su

rj
ec

ti
ve

D
ém

on
st

ra
ti
on

.
1)

C
et

te
in

ég
al

it
é

si
gn

ifi
e

:C
ar

d
f
(E

)
6

C
a
rd

E
et

C
a
rd

f
(E

)
6

C
a
rd

F
.

•
f
(E

)
es

t
un

e
pa

rt
ie

de
F

(fi
ni

)
do

nc
es

t
fin

ie
t

C
a
rd

f
(E

)
6

C
a
rd

F
.

•
C

om
m

e
f

es
t

un
e

ap
pl

ic
at

io
n,

à
to

ut
él

ém
en

t
x

de
E

on
as

so
ci

e
se

ul
e-

m
en

t
un

él
ém

en
t

y
de

F
,q

ui
es

t
al

or
s,

pa
r

dé
fin

it
io

n,
da

ns
f
(E

).
A

in
si

:C
ar

d
f
(E

)
6

C
ar

d
E

.
2)

L’
ég

al
it

é
(C

a
rd

E
=

C
a
rd

f
(E

))
si

gi
ni

fie
qu

’il
y

a
au

ta
nt

d’
él

ém
en

ts
da

ns
E

qu
e

d’
él

ém
en

ts
da

ns
f
(E

).
A

ut
re

m
en

t
di

t,
to

ut
él

ém
en

t
de

f
(E

)
n’

es
t

at
te

in
t

qu
’u

ne
fo

is
pa

r
f
,c

e
qu

is
ig

ni
fie

qu
e

f
es

t
in

je
ct

iv
e.

3)
O

n
a

ég
al

it
é

(C
ar

d
F

=
C

a
rd

f
(E

))
ss

iF
=

f
(E

)
(c

e
qu

is
ig

ni
fie

qu
e

f
es

t
su

rj
ec

ti
ve

).

P
ro

p
os

it
io

n
4.

So
ie

nt
E

et
F

de
ux

en
se

m
bl

es
fi
n
is

.
So

it
f

:
E

!
F

un
e

ap
pl

ic
at

io
n

de
E

da
ns

F
.

f
:
E

!
F

C
ar

d
E

=
C

ar
d

F

�
)

(f
in

je
ct

iv
e
,

f
su

rj
ec

ti
ve

,
f

bi
je
ct

iv
e)

D
ém

on
st

ra
ti
on

.
O

n
su

pp
os

e
C

a
rd

E
=

C
a
rd

F
.D

’a
pr

ès
la

pr
op

os
it

io
n

3,
on

a
:

f
in

je
ct

iv
e

,
C

ar
d

f
(E

)
=

C
a
rd

E
,

C
ar

d
f
(E

)
=

C
a
rd

F
,

f
su

rj
ec

ti
ve
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C
ette

form
ule

s’écrit
souvent

sous
la

form
e

d’un
triangle

:

H
H
H

H
HH

n
k

0
1

2
3

4
5

...

0
1

1
1

1
2

1
2

1
3

1
3

3
1

4
1

4
6

4
1

5
1

5
10

10
5

1
...

...

f)
8
k
2

J1,nK,
k ✓

nk ◆
=

n ✓
n
�

1

k�
1 ◆

g)
Form

ule
de

V
anderm

onde
:

8
(a

,b)2
N

2,8
p
2

J0
,a

+
bK,

pPk
=

0 ✓
ak ◆✓

b

p�
k ◆

=

✓
a

+
b

p

◆

D
ém

onstration.
d)

Ily
a

deux
m

éthodes
pour

dém
ontrer

cette
égalité.

⇥
M

éthode
calculatoire.
✓

n

n
�

k ◆
=

n
!

(n
�

k
)!(n

�
(n

�
k
))!

=
n
!

(n
�

k
)!k

!

⇥
M

éthode
théorique.

Soit
E

est
un

ensem
ble

à
n

élém
ents.

N
otons

P
k

l’ensem
ble

des
parties

à
k

élém
ents

de
E

.

L’application
'

:
P

k
!

P
n�

k

A
7!

A
est

une
bijection.

Ily
a

donc
autant

de
parties

à
k

élém
ents

de
E

que
de

parties
à

n�
k

élém
ents

de
E

(les
com

plém
entaires

des
précédents).
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P
rop

osition
5.

Soit
E

un
ensem

ble
fini.

Soit
F

un
ensem

ble
fini.

1)
Ilexiste

une
injection

de
E

dans
F

ssi
C

a
rd

E
6

C
a
rd

F
.

2)
Ilexiste

une
surjection

de
E

sur
F

ssi
C

a
rd

E
>

C
a
rd

F
.

3)
Ilexiste

une
bijection

de
E

sur
F

ssi
C

a
rd

E
=

C
a
rd

F
.

D
ém

onstration.
C

’est
une

application
directe

de
la

proposition
3.

I.4.
E
n
sem

b
le

(in
fi
n
i)

d
én

om
b
rab

le

Les
ensem

bles
quine

sont
pas

finis
sont

dits
infinis.P

arm
ices

ensem
bles,

on
peut

distinguer
ceux

dont
on

peut
num

éroter
les

élém
ents.

D
éfi

n
ition

U
n

ensble
E

est
(infini)

d
én

om
b
rab

le
s’il

existe
une

bijection
entre

N
et

E
.

E
xem

p
le

•
N

,Z
,Q

sont
infinis

dénom
brables

:on
peut

num
éroter

leurs
élém

ents.
•

R
n’est

pas
dénom

brable
:on

ne
peut

num
éroter

les
élém

ents
de

R
.

C
ecisignifie

qu’ilexiste
différentes

«
tailles»

d’infinis.C
e

chapitre
étant

consacré
aux

ensem
bles

finis,nous
ne

développerons
pas

ces
considérations.

E
xercice

O
n

note
2N

l’ensem
ble

des
entiers

naturels
pairs.

D
ém

ontrer
que

les
applications

suivantes
sont

bijectives.

a.
f

: ����
N

!
2N

n
7!

2
n

b.
g

: ������

Z
!

N

n
7!

⇢
�

2n
si

n
6

0
2
n

+
1

si
n

>
0

C
onclusion

:
⇥

ily
a

«
autant»

d’entiers
naturels

pairs
que

d’entiers
naturels!

⇥
ily

a
«

autant»
d’entiers

relatifs
que

d’entiers
naturels!
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P
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p
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d
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◆
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So
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N
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So
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✓ n k

◆
=

n
!

k
!(

n
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Q
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m
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•
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=

1
:
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e

pa
rt
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à

0
él
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en

t
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un
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se
m

bl
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à
n
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t

l’e
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bl

e
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.

•
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◆
=

1
:

la
se

ul
e

pa
rt

ie
à

n
él

ém
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d’

un
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se
m

bl
e

E
à

n
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en
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t
l’e
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em
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e

E
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•

✓ n 1

◆
=

n
:

il
y

a
n

pa
rt

ie
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à
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en
t

d’
un

en
se

m
bl

e
E

à
n
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(c
e

so
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le
s
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•

✓
n

n
�

1◆
=

n
:

il
y

a
n
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à
n
�

1
él
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un
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m
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e

E
à

n
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en
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e
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s
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m
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E
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x
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d)
8k

2
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✓ n k

◆
=

✓
n

n
�
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◆

e)
Fo

rm
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e
du
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de
P
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8k
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�
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1

◆
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D
én

om
br

em
en

t

D
én

om
br

er
un

en
se

m
bl

e
fin

in
on

vi
de

E
,c

’e
st

dé
te

rm
in

er
le

ca
rd

in
al

de
E

.
A

ut
re

m
en

t
di

t,
c’

es
t

co
m

pt
er

le
s

él
ém

en
ts

de
l’e

ns
em

bl
e

E
.

O
n

s’
in

té
-

re
ss

e
do

nc
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ce

tt
e

se
ct

io
n

à
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te
r

de
s

m
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s
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et

ta
nt

le
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n
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A
\

B
=

?
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m
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A
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B
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i.
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C
a
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B
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=
C

a
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A
+

C
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=
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[
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[
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m

.
Il

su
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e
A
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+
m
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m
p
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O
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e
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u
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t
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m
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3
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?

D
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.
N
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s
M

3
R
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e
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s
m
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t
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m
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=

M
3
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R
.O

n
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C
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=
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M
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+
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A
insi,

une
application

strictem
ent

croissante
f

:J1,pK
!

J1
,nK

est
entiè-

rem
ent

déterm
iner

par
le

choix
des

p
valeurs

différentes
dansJ1,nK.

Il
y

a

donc
✓

np ◆
telles

applications.

R
em

arqu
e

Si
E

est
un

ensem
ble

fini
à

n
élém

ents,
il

est
possible

d’obtenir
une

p-
com

binaison
d’élém

ents
de

E
i.e.

une
parties

à
p

élém
ents

de
E

par
le

procédé
aléatoire

suivant.

•
P
our

chaque
élém

ent
x

i
de

E
,

on
effetue

un
tirage

aléatoire
(on

peut
penser

à
un

lancer
de

pièce)
:

⇥
en

casde
succès(le

lancerdonne
pile),

x
i estchoisidansla

com
binaison.

⇥
en

cas
d’échec

(le
lancer

donne
face),

x
i

n’est
pas

choisi
dans

la
com

-
binaison.

O
n

effectue
en

tout
n

tirages
successifs.

Si
l’on

obtient
p

succès
lors

de
cette

expérience,
c’est

que
l’on

a
sélectionné

p
élém

ents
dans

E
.
A

utre-
m

ent
dit,obtenir

exactem
ent

p
succès

c’est
obtenir

une
p-com

binaison.

•
La

répétition
de

ces
expériences

peut
être

représentée
par

un
arbre.

Le
nom

bre
de

chem
ins

de
cet

arbre
réalisant

p
succès

(pour
n

tirages)
est

le
nom

bre
de

p-com
binaisons.

•

E
•

E
•

E S

S
•

E S

S
•

E
•

E S

S
•

E S

p

p

p q

q
p q

q

p

p q

q
p q
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O
n

peut
généraliser

cette
proposition

au
cas

de
l’union

d’un
nom

bre
quel-

conque
d’ensem

bles
disjoints

deux
à

deux.

T
h
éorèm

e
2.

Soient
A

1 ,...,A
n

des
ensem

bles
fi
n
is

et
deux

à
deux

disjoin
ts.

(i.e.
A

i \
A

j
=

?
pour

tout
i6=

j)

1)
nSi=
1
A

i
est

fini.

2)
C

a
rd ✓

nSi=
1
A

i ◆
=

nPi=
1

C
ard

A
i

A
1 ,...,A

n
finis

A
1 ,...,A

n
deux

à
deux

disjoints

�
)

•
nSi=
1
A

i
est

fini

•
C

a
rd ✓

nSi=
1
A

i ◆
=

nPi=
1

C
ard

A
i

D
ém

onstration.
La

dém
onstration

consiste
à

dém
ontrer,par

récurrence,que
:8

n
>

2,P
(n

)
où

P
(n

)
:T

oute
fam

ille
(A

1 ,...,A
n
)

d’ensem
bles

finis
et

deux
à

deux
dis-

joints
vérifie

(
nSi=
1
A

i
est

fini)
et

(C
a
rd ✓

nSi=
1
A

i ◆
=

nPi=
1

C
a
rd

A
i ).

L’intialisation
n’est

autre
que

le
résultat

de
la

proposition
6.

L’étape
d’hérédité

est
laissée

en
exercice.

E
xem

p
le

O
n

considère
un

jeu
de

3
2

cartes.
C

om
bien

y
a-t-il

de
m

ains
(ensem

bles
de

5
cartes)

contenant
au

m
oins

2
rois?

D
ém

onstration.
A
vec

les
notations

précédentes,
l’ensem

ble
T

dont
on

recherche
le

cardinal
s’écrit

:
T

=
M

2
R
[

M
3
R
[

M
4
R
.C

es
ensem

bles
étant

deux
à

deux
disjoints,

on
a

:
C

ard
T

=
C

ard
M

2
R

+
C

a
rd

M
3
R

+
C

a
rd

M
4
R

(C
ard

M
2
R
,
C

a
rd

M
3
R

et
C

a
rd

M
4
R

sont
à

déterm
iner)
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E
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p
le

O
n

considère
l’urne

à
9

boules
précédente

et
on

procède
au

tirage
sim

ul-
tané

de
3

boules
de

l’urne.
Les

élém
ents

suivants
sont

des
3-com

binaisons
d’élém

ents
deJ1,9K.

{1
,3

,8}
{
2
,7

,5}
{
4
,1

,2}
{
1,2

,3}
{
4,5,6}

{
1,7,9}

{
2,7,8}

...

�
Il

n’y
a

pas
d’ordre

associé
à

ce
tirage

:
les

boules
sont

tirées
en

m
êm

e
tem

ps.
N

otez
que

les
ensem

bles
{2

,7
,5}

et
{2

,5
,7}

sont
égaux.
(deux

ensem
bles

sont
égaux

s’ils
ont

les
m

êm
es

élém
ents)

C
om

bien
y

a-t-ilde
tirages

en
tout?

U
ne

3-com
binaison

peut-être
vue

com
m

e
un

3-arrangem
ent

dans
lequel

l’ordre
ne

seraitpasprisen
com

pte.C
om

paronsle
nom

bre
de

3-arrangem
ents

au
nom

bre
de

3-com
binaisons.Sil’on

dispose
d’une

3-com
binaison

{
1,3,8},

on
peut

produire
à

l’aide
de

ses
élém

ents,les
3-arrangem

ents
suivants

:

(1,3
,8)

(1
,8,3)

(3
,1

,8)
(3

,8
,1)

(8
,1,3)

(8
,3

,1)

O
n

a
ainsiproduitsix

3-arrangem
entsdifférents.C

hacun
de

ces
3-arrangem

ents
correspond

à
une

m
anière

d’ordonner
les

élém
ents

1,
3,

8.
A

utrem
ent

dit,
on

considère
toutes

les
perm

utations
de

l’ensem
ble{1

,3
,8}.Ily

en
a

3!
=

6.
A

u
final,

à
chaque

3-com
binaison

correspond
3!

(i.e.
six)

3-arrangem
ents.

Ily
a

donc
3!fois

m
oins

de
3-com

binaisons
que

de
3-arrangem

ents
:

✓
93 ◆

=
A

39

3!
=

9⇥
8⇥

7

3⇥
2

=
3⇥

4⇥
7

=
84

D
e

m
anière

générale,
si

l’urne
contient

n
boules

et
qu’on

effectue
le

tirage

SIMULTANÉ
de

p
boules,ily

a
✓
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=

A
pn

p
!

=
n
!

p
!(n

�
p
)!

tirages
différents.
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O
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A
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B
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B
)[

B
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O
n

a
alors

:
C
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A
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C
a
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\
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+

C
a
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B
.

O
n
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T
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e
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E
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G
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à
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A

,
B
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B
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C
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=
C
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[
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[
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+
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+
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n
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e

:
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!
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✓ n p
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=
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p n

E
xe
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si
qu

e
:
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SI

MU
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AN
É

(S
AN

S
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m
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p
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es
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un
e
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ne
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nt

en
an

t
n

bo
ul

es
nu

m
ér

ot
ée
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1
à

n
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s
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dr
e

et
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ti
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xe
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n
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ns
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èr
e

un
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se
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3
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él
èv

es
qu

ié
tu

di
en

t
to

us
au

m
oi

ns
un

e
la

ng
ue

pa
rm

il
’a

ng
la

is
,l

’e
sp

ag
no

le
t

l’a
lle

m
an

d.
O

n
sa

it
qu

e
:

-
22

él
èv

es
ét

ud
ie

nt
l’a

ng
la

is
,2

2
ét

ud
ie

nt
l’a

lle
m

an
d,

18
ét

ud
ie

nt
l’e

sp
ag

no
l

-
10

él
èv

es
ét

ud
ie

nt
à

la
fo

is
l’a

ng
la

is
et

l’a
lle

m
an

d,
9

ét
ud

ie
nt

à
la

fo
is

l’a
lle

m
an

d
et

l’e
sp

ag
no

l,
11

à
la

fo
is

l’a
ng

la
is

et
l’e

sp
ag

no
l

C
om

bi
en

d’
él

èv
es

ét
ud

ie
nt

le
s

tr
oi

s
la

ng
ue

s?

D
ém

on
st

ra
ti
on

.
C

e
ge

nr
e

d’
ex

er
ci

ce
cl

as
si

qu
e

se
ré

so
ut

à
l’a

id
e

d’
un

di
ag

ra
m

m
e

en
pa

ta
te

s
(a

us
si

ap
pe

lé
di

ag
ra

m
m

e
de

V
en

n)
.

N
ot

on
s

:

•
A

n
g

l’e
ns

em
bl

e
de

s
él

èv
es

qu
ié

tu
di

en
t

l’a
ng

la
is

,

•
E

sp
l’e

ns
em

bl
e

de
s

él
èv

es
qu

ié
tu

di
en

t
l’e

sp
ag

no
l,

•
A

ll
l’e

ns
em

bl
e

de
s

él
èv

es
qu

ié
tu

di
en

t
l’a

lle
m

an
d,

•
C

l’e
ns

em
bl

e
de

s
él

èv
es

de
la

cl
as

se
,

•
et

en
fin

T
l’e

ns
em

bl
e

de
s

él
èv

es
qu

ié
tu

di
en

t
le

s
tr

oi
s

la
ng

ue
s.

O
n

a
do

nc
:

⇥
C

=
A

n
g
[

A
ll
[

E
sp

do
nc

C
a
rd

C
=

3
6

⇥
C

ar
d

A
n
g

=
2
2

⇥
C

ar
d

A
ll

=
22

⇥
C

ar
d

E
sp

=
18

⇥
C

ar
d
(A

n
g
\

A
ll
)

=
1
0

⇥
C

ar
d
(A

ll
\

E
sp

)
=

9

⇥
C

ar
d
(A

n
g
\

E
sp

)
=

1
1
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E
xem

p
le

O
n

se
propose

de
placer

n
personnes

autour
d’une

table
disposant

de
n

chaises.
À

chaque
personne

est
attribuée

une
seule

chaise
(et

inversem
ent

chaque
chaise

reçoit
une

seule
personne).U

n
placem

ent
de

ces
n

personnes
correspond

donc
à

une
bijection

deJ1
,nK

surJ1
,nK.C

’est
une

perm
utation

deJ1
,nK.

II.6.b
)

L
ien

entre
n
om

b
re

d
e

p
erm

u
tation

s
et

card
in

al
d
e

l’en
-

sem
b
le

d
es

ap
p
lication

s
b
ijectives

d
e

E
(fi

n
i)

d
an

s
F

(fi
n
i)

[CULTURE]

P
rop

osition
10.

Soit
E

un
ensem

ble
fini

de
cardinal

p.

Soit
F

un
ensem

ble
fini

de
cardinal

n.

1)
L’ensem

ble
B

(E
,F

)
des

bijections
de

E
dans

F
est

fini.

2)
Le

nom
bre

de
bijections

de
E

dans
F

(=
C

ard
(B

(E
,F

)))
estdonné

par
:

•
0

si
p
6=

n

•
A

nn
=

n
!

sinon

D
ém

onstration.
R

appelons
tout

d’abord
qu’ilexiste

une
bijection

de
E

(fini)
dans

F
(fini)

si
etseulem

entsi
C

ard
E

=
C

ard
F

(P
roposition

5).A
insi,

C
ard

(B
(E

,F
))

=
0

si
C

ard
E

6=
C

ard
F

.

Si
C

ard
E

=
C

ard
F

,
il

suffi
t

de
reprendre

la
dém

onstration
précédente.

E
n

effet,
d’après

la
P

roposition
4,

lorsque
E

et
F

sont
finis

et
de

m
êm

e
cardinal,une

application
f

est
injective

ssielle
est

bijective.A
insi,dans

ce
cas,B

(E
,F

)
=

I
(E

,F
).O

n
a

alors
:

C
ard

(B
(E

,F
))

=
C

ard
(I

(E
,F

))
=

A
nn

=
n
!
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C
e

que
l’on

peut
résum

er
par

le
diagram

m
e

suivant.

A
n
g

(22)
A

ll
(2

2
)

E
sp

(1
8
)

T(?)

(10
)

(9
)

(11
)

E
nfin,grâce

à
la

form
ule

du
crible,on

obtient
:

C
ard

(A
n
g[

A
ll[

E
sp

)
=

C
ard

A
n
g

+
C

a
rd

A
ll

+
C

a
rd

E
sp

�
C

ard
(A

n
g\

A
ll)�

C
a
rd

(A
n
g\

E
sp

)�
C

a
rd

(A
ll\

E
sp

)
+

C
ard

(A
n
g\

A
ll\

E
sp

)

ainsi,on
a

:

3
6

=
(22

+
2
2

+
1
8)�

1
0�

1
1�

9
+

C
a
rd

T

d’où
:

36
=

12
+

1
1

+
9

+
C

ard
T

et
C

a
rd

T
=

4

12
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N

ot
io

n
d
e

p
er

m
u
ta
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on

II
.6

.a
)

D
éfi

n
it

io
n

et
n
om

b
re

d
e

p
er

m
u
ta

ti
on

s

D
éfi

n
it

io
n

So
it

E
un

en
se

m
bl

e
fin

id
e

ca
rd

in
al

n
.

•
U

ne
p
er

m
u
ta

ti
on

d’
un

en
se

m
bl

e
E

es
t

un
e

bi
je

ct
io

n
de

E
su

r
lu

i-m
êm

e.
•

Si
C

ar
d

E
=

n
,u

ne
pe

rm
ut

at
io

n
es

t
un

n
-a

rr
an

ge
m

en
t

d’
él

ém
en

ts
de

E
.

•
Si

C
ar

d
E

=
n
,

il
y

a
ex

ac
te

m
en

t
n
!

=
n
⇥

(n
�

1)
⇥

..
.
⇥

1(
=

A
n n
)

pe
rm

ut
at

io
ns

de
E

.

D
ém

on
st

ra
ti
on

.
Il

y
a

A
n n

n
-a

rr
an

ge
m

en
ts

de
E

au
tr

em
en

t
di

t
A

n n
pe

rm
ut

at
io

ns
de

E
.

O
r

:A
n n

=
n
!

(n
�

n
)!

=
n
!

0!
=

n
!

E
xe

m
p
le

cl
as

si
qu

e
:

ti
ra

ge
sS

UC
CE

SS
IF

S
et

SA
NS

RE
MI

SE
de

n
bo

ul
es

da
ns

un
e

ur
ne

co
nt

en
an

t
n

bo
ul

es
nu

m
ér

ot
ée

s
de

1
à

n
.

(a
ve

c
or

dr
e

et
sa

ns
ré

pé
ti
ti
on

)

E
xe

m
p
le

O
n

co
ns

id
èr

e
l’u

rn
e

à
9

bo
ul

es
pr

éc
éd

en
te

et
on

pr
oc

èd
e

au
ti

ra
ge

su
cc

es
si

f
de

s
9

bo
ul

es
de

l’u
rn

e,
sa

ns
re

m
is

e.
Le

s
él

ém
en

ts
su

iv
an

ts
so

nt
de

s
pe

rm
u-

ta
ti

on
s

de
l’e

ns
em

bl
e

J1
,9

K.

(2
,5

,4
,3

,9
,7

,8
,1

,6
)

(1
,5

,2
,4

,3
,9

,8
,7

,6
)

(4
,6

,7
,9

,1
,3

,5
,2

,8
)
..

.

C
om

bi
en

y
a-

t-
il

de
ti

ra
ge

s
en

to
ut

?
Il

y
a

9
po

ss
ib

ili
té

s
po

ur
la

pr
em

iè
re

bo
ul

e,
8

po
ss

ib
ili

té
s

po
ur

la
de

ux
iè

m
e

(l
a

pr
em

iè
re

bo
ul

e
n’

ét
an

t
pa

s
re

m
is

e
ap

rè
s

ti
ra

ge
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7
po

ss
ib

ili
té

s
po

ur
la

tr
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si
èm

e,
..

.,
2

po
ss

ib
ili

té
s

po
ur

la
hu

it
iè

m
e
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1
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ss
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po
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de
r-

ni
èr
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Il

y
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do
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⇥

8
⇥

7
⇥

..
.
⇥

2
⇥

1
=

9!
(=

36
28

80
)

ti
ra

ge
s

di
ffé

re
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D
e
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an

iè
re

gé
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ra
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il

’u
rn

e
co

nt
ie

nt
n

bo
ul

es
et

qu
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n
eff
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tu

e
n

ti
ra

ge
s

SU
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SI
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SA
NS

RE
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SE
,
il

y
a

n
!
=
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⇥
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�

1)
⇥

..
.
⇥
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⇥

1
ti

ra
ge

s
di

ffé
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nt
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C

ar
d
in

al
d
’u

n
p
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d
u
it

ca
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ie

n
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p
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n
ci

p
e

m
u
lt
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ti
f

T
h
éo

rè
m

e
4.

So
ie

nt
A

et
B

de
ux

en
se

m
bl

es
fi
n
is

.

1)
A
⇥

B
es

t
fin

i

2)
C

a
rd

(A
⇥

B
)

=
C

a
rd

A
⇥

C
ar

d
B

G
én

ér
al

is
at

io
n

au
ca

s
A

1
,.

..
,A

r
en

se
m

bl
es

fin
is

:

1)
A

1
⇥

..
.
⇥

A
r

es
t
fin

i

2)
C

a
rd

(A
1
⇥

..
.
⇥

A
r
)

=
C

a
rd

A
1
⇥

..
.
⇥

C
ar

d
A

r

E
t
ai

ns
i,

si
E

es
t
fin

i
(d

e
ca

rd
in

al
n
)

et
si

p
>

1,
on

a
:

1)
E

p
es

t
fin

i

2)
C

a
rd

(E
p
)

=
(C

a
rd

E
)p

=
n

p

D
ém

on
st

ra
ti
on

.
A

=
{x

1
,.

..
,x

p
}

(e
n

no
ta

nt
C

a
rd

A
=

p
),

B
=

{y
1
,.

..
,y

n
}

(e
n

no
ta

nt
C

ar
d

B
=

n
).

O
n

co
ns

id
èr

e
al

or
s

l’a
pp

lic
at

io
n

f
su

iv
an

te
:

f
:

A
⇥

B
!

J1
,p

.n
K

(x
i

,
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)
7!

n
(i
�

1
)
+

j

C
et

te
ap

pl
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at
io

n
ét

an
t

bi
je
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e
(f

n’
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t
ri

en
d’

au
tr

e
qu

’u
ne

nu
m

ér
ot

at
io

n
de

s
él

ém
en

ts
de

A
⇥

B
),

on
a

:
C

ar
d
(A

⇥
B

)
=

C
ar

d
(J1

,n
p
K)

=
p
n

=
C

a
rd

A
⇥

C
a
rd

B
.

La
dé

m
on

st
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ti
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é
gé
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ra
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en
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pr
é-
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m
en
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dé
m

on
tr

e
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e
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r
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(r
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P
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m
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1
,.

..
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r
)

d’
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m

bl
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fin
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1
⇥

..
.⇥

A
r

es
t

fin
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C

ar
d
(A

1
⇥

..
.
⇥

A
r
)

=
C

a
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A
1
⇥

..
.
⇥

C
a
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A
r
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E
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=
p
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=

..
.

=
A

p
,

on
ob

ti
en

t
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II.5.b
)

L
ien

entre
n
om

b
re

d
e

p-arran
gem

ents
et

card
in

al
d
e

l’en
-

sem
b
le

d
es

in
jection

s
d
e

E
(fi

n
i)

d
an

s
F

(fi
n
i)

[CULTURE]

P
rop

osition
9.

Soit
E

un
ensem

ble
fini

de
cardinal

p.
Soit

F
un

ensem
ble

fini
de

cardinal
n.

1)
L’ensem

ble
I
(E

,F
)

des
injections

de
E

dans
F

est
fini.

2)
Le

nom
bre

d’injections
de

E
dans

F
(=

C
ard

(I
(E

,F
)))

est
donné

par
:

•
0

si
p

>
n

•
A

pn
=

n
!

(n
�

p
)!

=
n
(n

�
1)

...(n
�

(p�
1))

sinon

D
ém

onstration.
1)

(D
ém

onstration
non

form
elle).

Ilexiste
une

injection
de

E
dans

F
seulem

ent
si

p
6

n.
A

insi:
A

pn
=

0
si

p
>

n.
C

onsidérons
m

aintenant
p
6

n
et

notons
E

=
{x

1 ,...,x
p }.

Se
donner

une
injection

de
E

dans
F

c’est
:

-
se

donner
l’im

age
de

x
1

:
f
(x

1 )
=

y
1 2

F
(n

choix
possibles)

-
se

donner
l’im

age
de

x
2

:
f
(x

2 )
=

y
2 2

F
\{

y
1 }

((n-1)
choix

possibles)
-

...
-

se
donner

l’im
age

de
x

p
:
f
(x

p )
=

y
p 2

F
\{

y
1 ,...,y

p�
1 }

((n-(p-1))
choix

possibles)
A

insi,ily
a

:
n
(n

�
1)

...(n
�

(p�
1))

injections
différentes

de
E

dans
F

.
2)

Ilsuffi
t

de
rem

arquer
qu’un

p-arrangem
ent

(a
1 ,...,a

p )
d’élém

ents
de

F
deux

à
deux

distincts
n’est

rien
d’autre

qu’une
injection

f
:J1,pK7!

F
:

f
:

J1,pK
!

F
i

7!
a

i

(le
m

ot
distinct

doit
faire

penser
à

la
définition

d’injection)

19

E
C

E
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2015-2016

E
xercice

O
n

considère
un

jeu
de

32
cartes

dans
lequel

on
effectue

un
tirage

de
5

cartes.
1)

C
om

bien
y

a-t-ilde
m

ains
contenant

un
carré?

D
ém

onstration.
U

n
telle

m
ain

est
entièrem

ent
déterm

inée
par

:
•

le
choix

de
la

hauteur
du

carré
:
8

possibilités.
(choix

d’un
élém

entdans
l’ensem

ble
à

8
élèm

ents
H

=
{
7,8,9,1

0,V
,D

,R
,A

s})
•

le
choix

de
la

carte
restante

:
28

possibilités.
(une

carte
choisie

parm
iles

2
8

cartes
restantes)

Ily
a

donc
8⇥

28
m

ains
convenables.

2)
C

om
bien

y
a-t-ilde

m
ains

contenant
exactem

ent
un

pique?

D
ém

onstration.
U

n
telle

m
ain

est
entièrem

ent
déterm

inée
par

:
•

le
choix

de
la

hauteur
du

pique
:
8

possibilités.
(choix

d’un
élém

ent
dans

l’ensem
ble

H
à

8
élèm

ents)
•

le
choix

des
4

cartes
restantes.

(4
cartes

choisies
parm

i
les

24
cartes

qui
ne

sont
pas

du
pique)

L’expression
entièrem

ent
déterm

inée
sous-tend

la
présence

d’une
bijec-

tion.M
ettons-la

à
jour

en
notant

:
•

M
1-p

l’ensem
ble

des
m

ains
contenant

exactem
ent

1
pique,

•
M

4s-p
l’ensem

ble
des

ensem
bles

de
4

cartes
quine

pas
de

pique.
•

H
=

{
7,8,9,10,V

,D
,R

,A
s}

l’ensem
ble

des
hauteurs.

O
n

a
alors

la
bijection

suivante.

M
1-p

!
H

⇥
M

4s-p
m

7!
(

h
,

m̃
)

où
h

est
la

hauteur
du

pique
présent

dans
la

m
ain

m
et

m̃
est

l’ensem
ble

des
4

autres
cartes

de
la

m
ain

m
.A

u
final,on

obtient
:

C
a
rd

M
1-p

=
C

ard
(H

⇥
M

4s-p )
=

C
a
rd

H
⇥

C
a
rd

(M
4s-p )

=
8⇥

✓
2
44 ◆

.
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C
om

bi
en

y
a-

t-
il

de
ti
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ge

s
en

to
ut

?
Il

y
a

9
po

ss
ib

ili
té

s
po

ur
la

pr
em

iè
re

bo
ul

e,
8

po
ss

ib
ili

té
s

po
ur

la
de

ux
iè

m
e

(l
a

pr
em

iè
re

bo
ul

e
n’

ét
an

t
pa

s
re

m
is

e
ap

rè
s

ti
ra

ge
)

et
7

po
ss

ib
ili

té
s

po
ur

la
tr

oi
si

èm
e.

Il
y

a
do

nc
9
⇥

8
⇥

7(
=

50
4)

ti
ra

ge
s

di
ffé

re
nt

s.

D
e

m
an

iè
re

gé
né

ra
le

,s
il

’u
rn

e
co

nt
ie

nt
n

bo
ul

es
et

qu
’o

n
eff

ec
tu

e
p

ti
ra

ge
s

SU
CC

ES
SI

FS
et

SA
NS

RE
MI

SE
,i

ly
a

n
⇥

(n
�

1)
⇥

..
.⇥

(n
�

(p
�

1)
)

ti
ra

ge
s

di
ffé

re
nt

s.

E
xe

rc
ic

e
O

n
co

ns
id

èr
e

un
e

co
ur

se
de

ch
ev

au
x

av
ec

15
pa

rt
an

ts
.

Le
je

u
du

ti
er

cé
co

ns
is

te
à

dé
te

rm
in

er
le

s
3

pr
em

ie
rs

ch
ev

au
x

de
la

co
ur

se
.L

e
qu

in
té

co
ns

is
te

à
dé

te
rm

in
er

le
s

5
pr

em
ie

rs
ch

ev
au

x
de

la
co

ur
se

.

a.
C

om
bi

en
y

a-
t-

il
de

ti
er

cé
s

da
ns

l’o
rd

re
?

D
ém

on
st

ra
ti
on

.
Il

y
a

A
3 1
5

=
15

⇥
14

⇥
13

=
27

30
ti

er
cé

s
di

ffé
re

nt
s

da
ns

l’o
rd

re
.

b.
C

om
bi

en
y

a-
t-

il
de

qu
in

té
s

da
ns

l’o
rd

re
?

D
ém

on
st

ra
ti
on

.
Il

y
a

A
3 1
5

=
15

⇥
14

⇥
13

⇥
12

⇥
11

=
36

03
60

qu
in

té
s

di
ffé

re
nt

s
da

ns
l’o

rd
re

.

c.
C

om
bi

en
y

a-
t-

il
de

ré
su

lt
at

s
po

ss
ib

le
s

po
ur

la
co

ur
se

?

D
ém

on
st

ra
ti
on

.
P
ar

ré
su

lt
at

de
la

co
ur

se
,

on
en

te
nd

or
dr

e
d’

ar
ri

vé
e

de
ch

aq
ue

ch
ev

al
.

Il
y

a
A

1
5

1
5

=
15

⇥
14

⇥
..

.
⇥

2
⇥

1
=

15
!

=
13

07
67

43
68

00
0

ré
su

lt
at

s
po

ss
ib

le
s.
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N

ot
io

n
d
e

p-
li
st

e

II
.4

.a
)

D
éfi

n
it

io
n

et
n
om

b
re

d
e

p
-l
is

te
s

D
éfi

n
it

io
n

So
it

E
un

en
se

m
bl

e
fi
n
i.

•
U

ne
p
-li

st
e

d’
él

ém
en

ts
de

E
es

t
un

e
su

it
e

de
p

él
ém

en
ts

de
E

.
A

ut
re

m
en

t
di

t,
un

e
p
-li

st
e

es
t

un
él

ém
en

t
de

E
p
.

(c
’e

st
un

e
re

dé
fin

it
io

n
du

te
rm

e
p
-u

pl
et

)
•

Si
C

ar
d

E
=

n
,i

ly
a

ex
ac

te
m

en
t

n
p

p
-li

st
es

d’
él

ém
en

ts
de

E
.

(c
ar

C
ar

d
(E

p
)

=
(C

a
rd

E
)p

)

E
xe

m
p
le

cl
as

si
qu

e
:

ti
ra

ge
sS

UC
CE

SS
IF

S
et

AV
EC

RE
MI

SE
de

p
bo

ul
es

da
ns

un
e

ur
ne

co
nt

en
an

t
n

bo
ul

es
nu

m
ér

ot
ée

s
de

1
à

n
.

(a
ve

c
or

dr
e

et
av

ec
ré

pé
ti
ti
on

)

E
xe

m
p
le

O
n

co
ns

id
èr

e
un

e
ur

ne
co

nt
en

an
t

9
bo

ul
es

nu
m

ér
ot

ée
s

de
1

à
9.

O
n

pr
oc

èd
e

au
ti

ra
ge

su
cc

es
si

fd
e

3
bo

ul
es

de
l’u

rn
e,

av
ec

re
m

is
e.

Le
s

él
ém

en
ts

su
iv

an
ts

so
nt

de
s

3
-li

st
es

d’
él

ém
en

ts
de

J1
,9

K.

(1
,1

,1
)

(3
,1

,8
)

(8
,1

,3
)

(2
,1

,2
)

(9
,2

,6
)

(3
,2

,2
)

(2
,2

,3
)
..

.

�
L’

or
dr

e
da

ns
le

qu
el

so
nt

ti
ré

es
le

s
bo

ul
es

re
vê

t
ic

iu
ne

im
po

rt
an

ce
.

A
ut

re
m

en
t

di
t,

le
ti

ra
ge

(3
,2

,2
)

es
t

un
ti

ra
ge

di
ffé

re
nt

du
ti

ra
ge

(2
,2

,3
).

C
om

bi
en

y
a-

t-
il

de
ti

ra
ge

s
en

to
ut

?
Il

y
a

9
po

ss
ib

ili
té

s
po

ur
la

pr
em

iè
re

bo
ul

e,
9

po
ss

ib
ili

té
s

po
ur

la
de

ux
iè

m
e

(l
a

pr
em

iè
re

bo
ul

e
a

ét
é

re
m

is
e

ap
rè

s
ti

ra
ge

)
et

9
po

ss
ib

ili
té

s
po

ur
la

tr
oi

-
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èm
e.

Il
y

a
do

nc
9
⇥

9
⇥

9
=
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(=

7
2
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s

di
ffé

re
nt

s.

D
e

m
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iè
re

gé
né

ra
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,s
il

’u
rn

e
co

nt
ie

nt
n

bo
ul

es
et

qu
’o

n
eff

ec
tu

e
p
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ra

ge
s

SU
CC

ES
SI
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EC
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n
⇥

..
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⇥

n
=

n
p
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s
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II.5.
N

otion
d
e

p-arran
gem

ent

II.5.a)
D

éfi
n
ition

et
n
om

b
re

d
e

p-arran
gem

ent

D
éfi

n
ition

Soit
E

un
ensem

ble
fi
n
i.

•
U

ne
p-arrangem

ent
d’élém

ents
de

E
est

p-liste
d’élém

ents
distincts

de
E

.

•
Si

C
ard

E
=

n,
il

y
a

n
⇥

(n
�

1)⇥
...⇥

(n
�

(p�
1))

p-arrangem
ents

d’élém
ents

de
E

.

•
P
ar

la
suite,on

notera
A

pn
le

nom
bre

de
p-arrangem

ents
d’élém

ents
de

E
(où

E
est

un
ensem

ble
à

n
élém

ents).

E
xem

p
le

classiqu
e

:
tirages

SUCCESSIFS
et

SANS
REMISE

de
p

boulesdans
une

urne
contenant

n
boules

num
érotées

de
1

à
n.

(avec
ordre

et
sans

répétition)

E
xem

p
le

O
n

considère
l’urne

à
9

boules
précédente

et
on

procède
au

tirage
suc-

cessif
des

3
boules

de
l’urne,

sans
rem

ise.
Les

élém
ents

suivants
sont

des
3-arrangem

ents
d’élém

ents
deJ1

,9K.

(1,1
,1)

(3,1,8)
(8

,1
,3)

(2,1
,2)

(9,2,6)
(3,2,2)

(2,2
,3)

...

�
L’ordre

dans
lequelsont

tirées
les

boules
revêt

encore
une

im
por-

tance.
A

utrem
ent

dit,
le

tirage
(3,1,8)

est
un

tirage
différent

du
tirage

(8,1
,3).
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II.4.b
)

L
ien

entre
n
om

b
re

d
e

p-listes
et

card
in

ald
e

l’en
sem

b
le

d
es

ap
p
lication

s
d
e

E
(fi

n
i)

d
an

s
F

(fi
n
i)

[CULTURE]

P
rop

osition
8.

Soit
E

un
ensem

ble
fini

de
cardinal

p.
Soit

F
un

ensem
ble

fini
de

cardinal
n.

1)
L’ensem

ble
A

(E
,F

)
des

applications
de

E
dans

F
est

fini.

2)
C

ard
(A

(E
,F

))
=

(C
ard

F
)
C

a
rd

E
=

n
p

D
ém

onstration.
O

n
a

E
=

{
x

1 ,...,x
p }.

T
oute

application
f

:
E

!
F

est
com

plètem
ent

déterm
inée

par
le

p-uplet
(f

(x
1 ),...,f

(x
p ))

d’élém
ents

de
F

.
E

n
d’autres

term
es,l’application

:
⇢

A
(E

,F
)

!
F

⇥
...

⇥
F

f
7!

(f
(x

1 )
,

...
,

f
(x

p ))

est
bijective.

R
em

arqu
e

C
ette

dém
onstration

perm
et

de
com

prendre
pourquoi

on
utilise

parfois
la

notation
:A

(E
,F

)
=

F
E
.Le

théorèm
e

s’écrit
alors

:

C
ard

(F
E
)

=
(C

a
rd

F
)
(C

a
rd

E
)

T
h
éorèm

e
5.

Soit
E

fini
de

cardinal
n.

1)
P

(E
)

est
fini

2)
C

ardP
(E

)
=

2
n

D
ém

onstration.

C
onsidérer

l’application
: ⇢

P
(E

)
!

A
(E

,{
0,1}

)
A

7!
�

A

où
�

A
est

l’application
caractéristique

de
A

.P
ar

définition,c’est
:

�
A

:
E

!
{
0
,1}

x
7!

0
si

x
62

A
1

si
x
2

A
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